TEMENOS Placement Paper Questions

Q1. Two times of 20 minus nine equals -----

Q2. | am twice old as my son. 20 years hence, | will be 4 times of my sons age. How old
| am?

Q3. HENN+EGG=46, HEN - EGG=?

Q4. | have 6 tons of rice. | gave 1.4 tons to my friend. How many Kgs of rice | will have
now?

Q5. Find the missing number.
7510

91222

?2712

Q6. A Deer and hare had a race, hare was 16m ahead during start. Distance covered
by hare in 6 jumps is equal to 4 jumps of Deer. Distance covered in one jump by hare is
1m, and that of deer is 2.5m. Find the distance covered by deer to catch hare.

Q7. A frog climbs a 20ft wall, every hour it climbs 3ft and declines 2ft. How much
time it takes to reach top of the wall?

ANS: 18 hour(it reached)

Q8. A contractor has to complete construction of a road in 15 days of length 12km,
initially done by 100 people. After 9 days, only 5km of work is completed. Now the
contractor has to complete the remaining job in same time period. Now how many more
people he has to take?
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Q9. A train is moving at a speed of 84 km/hr and a man is moving at a speed of 6 km/hr
in opposite direction. They cross each other at 5 sec. What is the length of the train?

Q10. Given that black->blue
blue - green,

green - yellow,

yellow - red,

red - violet,

violet - black.

What is the color of blood?

ANS: Red

Q11. A man travel 3 Km north from home, 2 Km west, 1 km north, 5 km east. What
is the distance from his home now?

ANS: 3(use Pythagorus theorem, draw some extensions, diagonal is 3)
Q12. A man consumes 20% more, when the product rate decreases by 20%. What
is his profit?

ANS: -4%( that is he has 4% loss) gain or loss% = (x/10)"2.

Q13. Five books A,B,C,D,E are arranged not in order, D is below E, B is above C,
A is below B. Which book is not at the top?
ANS: E

Q14. If ANTICIPATION is said as ICITNAOINTAP. Then what is PRODUCTIVITY?
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Q15. A man has to travel 5 Km. He takes 5 min break every hour. His speed is 10
Km/hr. What is the time to reach the destination?

ANS: 50 min

Q16. Nepo is three time as old as his sons age. His father is 40 more than twice
his age. What is Nepos age?

ANS: 360

Q17. There are 6 people A,B,C,D,E,F. A and D are husband and wife, F is the sister of

D, C is the grandfather of D, Ds son is police. The two ladies are unemployed. Now say
who is the pilot?

Computer Questions:-

Q18. Is that possible to have a file name only in numbers in windows?
Q19. What is the hardware required to make LAN connection?

Q20. If a file got deleted where it will go?

Q21. How will you restart using keys?

Q22. What is the protocol used in World Wide Web?

Q23. How will you refresh a page using keys?
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